A & 0l & A

2016E = 20ilat BILSE3H A (&)
20l 22 - FHAY - RAAH(SIH) O & of SHUE = Ol AboH HinZS2 =
= A 129,702,492 46,148,353 83,554, 139 181.06%
ALY 118,326,244 39,082,483 79,243,761 202.76%
Hess 1,709,535 540,293 1,169,242 216.41%
HEH2AH 9,666,713 6,525,577 3,141,136 48.14%
sH3LES 91,049,989 26,184,039 64,865,950 247 . 73%
Mo E - 2 91,049,989 26,184,039 64,865,950 247 . 73%
N -1 36,890,760 25,643,746 11,247,014 43.86%
MaT A (METALSEE ) 36,890,760 25,643,746 11,247,014 43.86%
St & Xlst=zel 52,449,694 0 52,449,694 =5
Szl elTet RE(GH+ZAYSEE) 15,000 0 15,000 =3
St2H HX (SIS AL SEEH) 4,192,729 0 4,192,729 =5
Al G2 HHIAY (GHES AL SE 3 22,226,028 0 22,226,028 =3
)
SteZSUHAANE 222 (ST AL S LS 11,946,873 0 11,946,873 =3
)
EoHeAL IRl (e AASEEIH) 357, 158 0 357,158 =3
IIERL ZIHUANE 222 (G+ZALS 1,857,026 0 1,857,026 =5
= 5| )
St AUE DITAIY 29 22l (5h E Al 11,552,720 0 11,552,720 &5
ASe3 )
FOUXNSAL (BH A S S 3 H) 302, 160 0 302, 160 =5
WSS (Y2D) 499,205 540,293 A41,088 AT .60%
BRNES(ASTALSESH) 499,205 540,293 A41,088 AT.60%
WS (54D 1,210,330 0 1,210,330 =3
HEHHKE (SIS ALSEEH) 635,330 0 635,330 =3
BHUS (G- MASLSNH) (Gt ZALSE 575,000 0 575,000 =3
3| H)
EUR A 28,253,540 13,138,737 15,114,803 115.04%
- 6,886,809 0 6,886,809 =5
OSst4+Hels 29 6,886,809 0 6,886,809 =3
OISsl+HMeld 2 (ST AFSS S5 H) 6,886,809 0 6,886,809 &3
XLz Al 21,366,731 3,125,237 18,241,494 583.68%
S AN ALY 21,366,731 3,125,237 18,241,494 583.68%
BRI AL (BN AL S S5 H) 21,366,731 3,125,237 18,241,494 583.68%

(Gl =] 732,250 300,000 432,250 144.08%




20169 = =0a SOILSESAH & H chel &)
2Ok 22 - IBAY - SRAAH (S H) Ol &F oA HE T Ol Ak A HwE2 pp—
sSEE
ol g1 8l 732,250 300,000 432,250 144.08%
ol gl 732,250 300,000 432,250 144.08%
Gl (&S AESE3) 732,250 300,000 432,250 144.08%
JIE 9,666,713 6,525,577 3,141,136 48.14%
JIE 9,666,713 6,525,577 3,141,136 48.14%
HY2IZH(L2) 6,564,389 6,208,675 355,714 5.73%
AR (A+=ZAIESESIH) 6,273,649 5,954,347 319,302 5.36%
22 (=T AL SE3A) 290,740 254,328 36,412 14.32%
#HE2AZH(Sh==1) 2,811,574 0 2,811,574 =35
A2 (St ALS SESIH) 2,599,826 0 2,599,826 =35
Jl2ddl(ot+== ML SE3AH) 211,748 0 211,748 =35
HH2IZH(FZZAIL) 290,750 316,902 N 26,152 N 8.25%
AHASHH(SSSE)NSEMHLASESERA) 170,846 167,678 3,168 1.89%
I2ZH(SSEL )N (SSMLALELSA) 119,904 149,224 A~ 29,320 A 19.65%




